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ŸÊ◊Ê¢∑§ Roll No.

No. of Questions — 24  VU—51–2—Geog.–II
No. of Printed Pages — 7

flÁ⁄Uc∆U ©U¬ÊäÿÊÿ ¬⁄UËˇÊÊ, 2010
flÒ∑§ÁÀ¬∑§ flª¸  I — ∑§‹Ê ( OPTIONAL GROUP I — HUMANITIES )

÷ÍªÊ‹◊˜ ó ÁmÃËÿ ¬òÊ
( GEOGRAPHY — Second Paper )

‚◊ÿ — 3 14   ÉÊá≈U

¬ÍáÊÊZ∑§ — 40

¬⁄UËˇÊÊÁÕ¸ÿÊ¥ ∑§ Á‹∞ ‚Ê◊Êãÿ ÁŸŒ̧‡Ê —
GENERAL INSTRUCTIONS TO THE EXAMINEES :
1. ¬⁄UËˇÊÊÕË¸ ‚fl¸¬˝Õ◊ •¬Ÿ ¬˝‡Ÿ ¬òÊ ¬⁄U ŸÊ◊Ê¢∑§ •ÁŸflÊÿ¸Ã— Á‹π¥ –

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2. ¬˝‡Ÿ ¬òÊ ∑§ Á„UãŒË fl •¢ª˝¡Ë M§¬ÊãÃ⁄U ◊¥ Á∑§‚Ë ¬˝∑§Ê⁄U ∑§Ë òÊÈÁ≈U / •ãÃ⁄U / Áfl⁄UÙœÊ÷Ê‚ „UÙŸ ¬⁄U
Á„UãŒË ÷Ê·Ê ∑§ ¬˝‡Ÿ ∑§Ù ‚„UË ◊ÊŸ¥ –
If there is any error / difference / contradiction in Hindi & English
versions of the question paper, the question of Hindi version should
be treated valid.

3. ‚÷Ë ¬˝‡Ÿ ∑§⁄UŸ •ÁŸflÊÿ¸ „Ò¥U – ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 23 fl 24 ◊¥ •Ê¢ÃÁ⁄U∑§ Áfl∑§À¬ „Ò¥U –
All  the questions are compulsory. There are internal choices in

Question Nos. 23 and 24.

4. ¬˝àÿ∑§ ¬˝‡Ÿ ∑§Ê ©UûÊ⁄U ŒË ªß¸ ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ „UË Á‹π¢ –
Write the answer to each question in the given answer-book only.

5. Á¡‚ ¬˝‡Ÿ ∑§ ∞∑§ ‚ •Áœ∑§ ‚◊ÊŸ •¢∑§ flÊ‹ ÷Êª „Ò¥U, ©UŸ ‚÷Ë ÷ÊªÙ¥ ∑§Ê „U‹ ∞∑§ ‚ÊÕ ‚ÃÃ˜
Á‹π¥ –
For questions having more than one part carrying similar marks, the
answers of those parts are to be written together in continuity.
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6. ¬˝‡Ÿ ‚¢ÅÿÊ 2 ‚ 5 Ã∑§ •ÁÃ ‹ÉÊÍûÊ⁄UÊà◊∑§ ¬˝‡Ÿ „Ò¥U Á¡Ÿ∑§ ¬˝àÿ∑§ ©UûÊ⁄U ‹ª÷ª 20 ‡ÊéŒÊ¥ ◊¥,

¬˝‡Ÿ ‚¢ÅÿÊ 6 ‚ 13 Ã∑§ ¬˝àÿ∑§ ©UûÊ⁄U 30 ‡ÊéŒÊ¥ ◊¥, ¬˝‡Ÿ ‚¢ÅÿÊ 14 ‚ 21 Ã∑§ ¬˝àÿ∑§ ©UûÊ⁄U

‹ª÷ª 50 ‡ÊéŒÊ¥ ◊¥ ÃÕÊ ¬˝‡Ÿ ‚¢ÅÿÊ 22 ‚ 24 Ã∑§ ¬˝àÿ∑§ ©UûÊ⁄ ‹ª÷ªU 3 ¬ÎDÔUÙ¥ ◊¥ ŒËÁ¡∞–

Question Nos. 2 to 5 are very short answer type to be answered in

20 words each, Question Nos. 6 to 13 in 30 words each, Question

Nos. 14 to 21 in 50 words each and Question Nos. 22  to 24  in

3 pages each.

7. ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 1 ∑§ øÊ⁄U ÷Êª ( i, ii, iii ÃÕÊ iv ) „Ò¥U – ¬˝àÿ∑§ ÷Êª ∑§ ©UûÊ⁄U ∑§ øÊ⁄U Áfl∑§À¬

( •, ’, ‚ ∞fl¢ Œ ) „Ò¥U – ‚„UË Áfl∑§À¬ ∑§Ê ©UûÊ⁄UÊˇÊ⁄U ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ ÁŸêŸÊŸÈ‚Ê⁄U ÃÊÁ‹∑§Ê

’ŸÊ∑§⁄U Á‹π¥ —

There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part has

four alternatives A, B, C and D . Write the letter of the correct

alternative in the answer-book at a place by making a table as

mentioned below :

¬˝‡Ÿ ∑˝§◊Ê¢∑§

Question No.

‚„Ë ©UûÊ⁄U ∑§Ê ∑˝§◊ÊˇÊ⁄U

Correct letter of

the Answer

1.       (i)

1.       (ii)

1.       (iii)

1.       (iv)
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1. (i) ÿÁŒ ‚◊Ã‹ ◊ÒŒÊŸË ÷ÊªÙ¥ ◊¥ ¡’ ŒÙ ◊Êª¸ •Ê¬‚ ◊¥ ∑§Ê≈UÃ „Ò¥U, fl„Ê° Á∑§‚ ¬˝∑§Ê⁄U ∑§
ª˝Ê◊ËáÊ •ÁœflÊ‚ ¬˝ÁÃM§¬ Áfl∑§Á‚Ã „UÙªÊ ?
(•) ⁄UπËÿ (’) •ÊÿÃÊ∑§Ê⁄U
(‚) •⁄UËÿ (Œ) ÃÊ⁄UÊ –
In a plain region where two roads cross each other, which type
of rural settlement will develop ?

(A) Linear (B) Rectangular

(C) Radial (D) Star.
1
2 

(ii) ‚Ÿ˜ 2001 ∑§Ë ¡ŸªáÊŸÊ ∑§ •ŸÈ‚Ê⁄U ÷Ê⁄UÃ ◊¥ ‚’‚ ∑§◊ Á‹¢ªÊŸÈ¬ÊÃ flÊ‹Ê ⁄UÊÖÿ „ÒU
(•) „UÁ⁄UÿÊáÊÊ (’) Á‚ÁÄ∑§◊
(‚) ¬¢¡Ê’ (Œ) ©UûÊ⁄U ¬˝Œ‡Ê –
According to the Census 2001, the state with lowest sex ratio in
India is

(A) Haryana (B) Sikkim

(C) Punjab (D) Uttar Pradesh.
1
2 

(iii) ÿÁŒ •Ê¬∑§Ù ª˝Ê◊ËáÊ ˇÊòÊ ∑§ ª⁄UË’ ‹ÙªÙ¥ ∑§Ù •ÊflÊ‚ ©U¬‹éœ ∑§⁄UÊŸÊ „ÒU, ÃÙ •Ê¬ ÁŸêŸ
◊¥ ‚ Á∑§‚ ÿÙ¡ŸÊ ∑§Ê øÿŸ ∑§⁄¥Uª ?U
(•) •ãàÿÙŒÿ ÿÙ¡ŸÊU
(’) ¬˝œÊŸ◊¢òÊË ª˝Ê◊ÙŒÿ ÿÙ¡ŸÊU
(‚) flÊÁÀ◊∑§Ë-•ê’«U∑§⁄U •ÊflÊ‚ ÿÙ¡ŸÊ
(Œ) ¬˝œÊŸ◊¢òÊË ª˝Ê◊ ‚«∏U∑§ ÿÙ¡ŸÊ –
If you are to provide housing facilities for the poor people at
village region, which of the following plans will you choose ?

(A) Antyodaya Yojana

(B) Prime Minister Village Upliftment Plan

(C) Valmiki-Ambedkar Housing Plan

(D) Prime Minister Village Road Project.
1
2 
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(iv) ÿÁŒ •Ê¬ ⁄UÊ¡SÕÊŸ ∑§ ¬Á‡ø◊Ë ÷Êª ◊¥ ‚Ë◊ã≈U ©UlÙª ∑§Ë SÕÊ¬ŸÊ ∑§⁄UŸÊ øÊ„UÃ „Ò¥U, ÃÙ
Á¡‚ Á¡‹ ∑§Ê øÿŸ ∑§⁄¥Uª, fl„U „ÒU
(•) ’Ë∑§ÊŸ⁄UU (’) ¡Ùœ¬È⁄U
(‚) ¡Ò‚‹◊⁄UU (Œ) ’Ê«∏U◊⁄U –
If you want to establish a cement industry in the western part of
Rajasthan, the district you will select, is

(A) Bikaner (B) Jodhpur

(C) Jaisalmer (D) Barmer.
1
2 

2. 2001 ∑§Ë ¡ŸªáÊŸÊ ∑§ •ŸÈ‚Ê⁄U ÷Ê⁄UÃ ◊¥ ‚flÊ¸Áœ∑§ ¡Ÿ ÉÊŸàfl flÊ‹ ŒÙ ⁄UÊÖÿÙ¥ ∑§ ŸÊ◊
Á‹Áπ∞ –
According to the Census of 2001, write the names of two states in
India with highest density of population. 1

4  + 14  = 12  

3. ‚ÉÊŸ ∞fl¢ ¬˝∑§ËáÊ¸ •ÁœflÊ‚ ◊¥ ∞∑§ ¬˝◊Èπ •ãÃ⁄U Á‹Áπ∞ –
Write one major difference between compact and isolated settlements.

1
4  + 14  = 12  

4. ÿÙ¡ŸÊ •ÊÿÙª ∑§Ê ¬ŒŸ •äÿˇÊ ∑§ıŸ „UÙÃÊ „ÒU ?

Who is the official President of the Planning Commission ?
1
2 

5. ÿÁŒ •Ê¬ ⁄UÊ¡SÕÊŸ ◊¥ ©UûÊ◊ ªÈáÊflûÊÊ ÿÈÄÃ ™§Ÿ ¬˝Ê# ∑§⁄UŸÊ øÊ„UÃ „Ò¥U, ÃÙ Á∑§‚ ŸS‹ ∑§Ë
÷«∏U ¬Ê‹Ÿ ∑§⁄UŸ ∑§Ê ‚È¤ÊÊfl Œ¥ª ?
If you want to get the best quality of wool in Rajasthan, which breed

of sheep will you suggest ?
1
2  

6. ¡ŸªáÊŸÊ 2001 ∑§ •ŸÈ‚Ê⁄U ÷Ê⁄UÃ ∑§ ‚flÊ¸Áœ∑§ ∞fl¢ ‚’‚ ∑§◊ ‚ÊˇÊ⁄UÃÊ flÊ‹ Á¡‹Ù¥ ∑§ ŸÊ◊
Á‹Áπ∞ –
According to the Census 2001, write the names of the districts in

India having the highest and lowest literacy rates.
1
2  + 

1
2   = 1

7. ◊ÊŸfl Áfl∑§Ê‚ Á⁄U¬Ù≈¸U, 2005 ∑§ •ŸÈ‚Ê⁄U ÷Ê⁄UÃ ∑§Ê ◊ÊŸfl Áfl∑§Ê‚ ‚Íø∑§Ê°∑§ ◊ÊŸ Á∑§ÃŸÊ „ÒU ?
According to Human Development Report, 2005, what is the Human
Development Index of India ? 1
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8. •ÁœflÊ‚ ‚ ÄÿÊ ÃÊà¬ÿ¸ „ÒU ?
What is meant by settlement ? 1

9. ßÁá«UÿŸ ∞ÿ⁄U‹Êßã‚ ∞fl¢ ∞ÿ⁄U ßÁá«UÿÊ ◊¥ ∞∑§ ¬˝◊Èπ •ãÃ⁄U Á‹Áπ∞ –
Write one major difference between Indian Airlines and Air India. 1

10. ª„UŸ ∑Î§Á· ∞fl¢ ÁflSÃÎÃ ∑Î§Á· ◊¥ ŒÙ •ãÃ⁄U Á‹Áπ∞ –
Write any two differences between intensive agriculture and extensive
agriculture. 1

2  + 12  = 1

11. ÷Ê⁄UÃ ◊¥ ª⁄UË’Ë ∑§ ŒÙ ¬˝◊Èπ ∑§Ê⁄UáÊ Á‹Áπ∞ –
Write two major reasons of poverty in India. 1

2  + 12  = 1

12. ◊Ê„UË ’¡Ê¡ ‚Êª⁄U ¬Á⁄UÿÙ¡ŸÊ ‚ ⁄UÊ¡SÕÊŸ ∑§ ∑§ıŸ-‚ ŒÙ Á¡‹ ‹Ê÷ÊÁãflÃ „UÙÃ „Ò¥U ?
Which two districts are benefited in Rajasthan by Mahi Bajaj Sagar
Project ? 1

2  + 12  = 1

13. ª˝Ê◊ËáÊ ∞fl¢ Ÿª⁄UËÿ •ÁœflÊ‚Ù¥ ◊¥ √ÿfl‚Êÿ ∑§ •ÊœÊ⁄U ¬⁄U •ãÃ⁄U Á‹Áπ∞ –

Differentiate between rural and urban settlements on the basis of

occupation. 1

14. ÷Ê⁄UÃ ◊¥ ÃËfl˝ ¡Ÿ‚¢ÅÿÊ flÎÁh ∑§Ù ÁŸÿ¢ÁòÊÃ ∑§⁄UŸ ∑§ øÊ⁄U ©U¬Êÿ ‚È¤ÊÊß∞ –

Suggest any four controlling factors for high growth rate of population
in India. 1

2  + 12  + 12  + 12  = 2

15. ÿÁŒ •Ê¬ ÷Ê⁄UÃ ◊¥ flŸÙ¥ ∑§Ê Ã¡Ë ‚ Áfl∑§Ê‚ ∑§⁄UŸÊ øÊ„UÃ „Ò¥U, ÃÙ ¬˝◊Èπ øÊ⁄U ‚È¤ÊÊfl ŒËÁ¡∞ –

If you want to develop the forest in India rapidly, give four major
suggestions. 1

2  + 12  + 12  + 12  = 2

16. ÿÁŒ ⁄UÊ¡SÕÊŸ ◊¥ ßÁãŒ⁄UÊ ªÊ°œË Ÿ„U⁄U ◊¥ Á‹ç≈U Ÿ„U⁄U ¬˝áÊÊ‹Ë ’ÊÁœÃ „UÙ ¡Êÿ, ÃÙ ∑§ıŸ-‚ øÊ⁄U
Á¡‹Ù¥ ◊¥ ¬ÿ¡‹ •Ê¬ÍÁÃ¸ ’ÊÁœÃ „UÙªË ?

If the lift canal system in Indira Gandhi Canal is disturbed, which four

districts in Rajasthan will suffer from drinking water supply ?
1
2  + 12  + 12  + 12  = 2
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17. ≈¢UªS≈UŸ œÊÃÈ ∑§ øÊ⁄U ©U¬ÿÙª Á‹Áπ∞ –
Write four uses of Tungsten metal. 1

2  + 12  + 12  + 12  = 2

18. ÷Ê⁄UÃ ∑§Ê ⁄πÊ-◊ÊŸÁøòÊ ’ŸÊ∑§⁄U ©U‚◊¥ ÁŸêŸ •ÊáÊÁfl∑§ ™§¡Ê¸ ∑§ãº˝Ù¥ ∑§Ù •¢Á∑§Ã ∑§ËÁ¡∞ —
(i) ⁄UÊflÃ ÷Ê≈UÊ
(ii) ∑Ò§ªÊ –
Draw an outline map of India and show the following atomic power
plants in it :  1 +  

1
2  + 1

2  = 2

(i) Rawat Bhata

(ii) Kaiga.

19. ⁄UÊ¡SÕÊŸ ∑§Ê ⁄UπÊ-◊ÊŸÁøòÊ ’ŸÊ∑§⁄U ÁŸêŸ ‚ÍÃË flSòÊ ∑§ãº˝Ù¥ ∑§Ù •¢Á∑§Ã ∑§ËÁ¡∞ —
(i) ÷Ë‹flÊ«∏UÊ
(ii) Á∑§‡ÊŸª…∏U –
Draw an outline map of Rajasthan and show the following cotton
textile centres : 1 +  

1
2  + 1

2  = 2

(i) Bhilwara

(ii) Kishangarh.

20. ‚È◊Á‹Ã ∑§ËÁ¡∞ —
¬˝◊Èπ ©UlÙª ∑§ãº˝

(•) ‚ÍÃË flSòÊ (i) ◊⁄U∆U
(’) ‚Ë◊á≈U (ii) ⁄UÊ©U⁄U∑§‹Ê
(‚) øËŸË (iii) ∑§ÊŸ¬È⁄U
(Œ) ‹ı„-UßS¬ÊÃ (iv) ÁøûÊı«∏Uª…∏U –
Establish the correct relationship : 1

2  + 12  + 12  + 12  = 2

Major Industries Centres

(a) Cotton Textile (i) Meerut

(b) Cement (ii) Rourkela

(c) Sugar (iii) Kanpur

(d) Iron-steel (iv) Chittorgarh.
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21. ÷Ê⁄UÃ ◊¥ ¬Ù·áÊËÿ Áfl∑§Ê‚ „UÃÈ øÊ⁄U ‚È¤ÊÊfl ŒËÁ¡∞ –
Give four suggestions for sustainable development in India.

1
2  + 12  + 12  + 12  = 2

22. ‚¢‚ÊœŸ ‚¢⁄UˇÊáÊ Á∑§‚ ∑§„UÃ „Ò¥U ? Á∑§ã„UË¥ ¿U— ÁflÁœÿÙ¥ ∑§ •ÊœÊ⁄U ¬⁄U ‚¢‚ÊœŸ ‚¢⁄UˇÊáÊ ∑§Ù
‚◊¤ÊÊß∞ –
What is resource conservation ? Explain resource conservation on the
basis of any six methods. 1 + 6 × 12  = 4

23. ÷Ê⁄UÃ ◊¥ øÊÿ •ÕflÊ ª„°ÍU ∑§Ë ∑Î§Á· ∑§Ê fláÊ¸Ÿ ÁŸêŸ ‡ÊË·¸∑§Ù¥ ∑§ •ÊœÊ⁄U ¬⁄U ∑§ËÁ¡∞ —
(i) •Êfl‡ÿ∑§ ÷ıªÙÁ‹∑§ Œ‡ÊÊ∞°
(ii) ◊ÈÅÿ ©Uà¬ÊŒ∑§ ⁄UÊÖÿ
(iii) ©Uà¬ÊŒŸ –
Describe the cultivation of Tea or Wheat in India under the following

heads :  2 + 1 + 1 = 4

(i) Essential geographical conditions

(ii) Main producing states

(iii) Production.

24. ÷Ê⁄UÃ ∑§Ë ¬¢øfl·Ë¸ÿ ÿÙ¡ŸÊ•Ù¥ ∑§ ÁŸÿÙ¡Ÿ ∑§Ê‹ ◊¥ ÁflÁ÷ÛÊ ˇÊòÊÙ¥ ∑§Ë ¬˝◊Èπ •Ê∆U ©U¬‹ÁéœÿÙ¥
∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞ –

•ÕflÊ
¬˝ÊŒÁ‡Ê∑§ •‚◊ÊŸÃÊ ‚ ÄÿÊ •Ê‡Êÿ „ÒU ? ÷Ê⁄UÃ ◊¥ ¬˝ÊŒÁ‡Ê∑§ •‚◊ÊŸÃÊ ∑§ Á‹∞ ©UûÊ⁄ŒÊÿË ¬˝◊Èπ
Á∑§ã„UË¥ ¿U— ∑§Ê⁄U∑§Ù¥ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞ –
Describe any eight major achievements of various sectors made
during the planning period of Five-year Plans in India. 8 × 12  = 4

OR

What is meant by regional imbalance ? Describe any six major factors

responsible for regional imbalance in India. 1 + 6 × 12  = 4

                        


